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Complete the evaluation points using the discussions we have had in the classEvaluation point 3

Rutter’s research challenges…  

This is because…



We might consider Rutter’s research to be more positive than Bowlby’s because…


Evaluation point 2

One of the issues with the research is that natural experiments do not allow us to….


This is because… (relate specifically to this research)



This means that we can’t say for sure…




Limiting the extent to which…  

The r

Evaluation point 1

Rutter’s research has had useful applications

It has led to…


For example….




This means that we are able to prevent…



